ETQNHT IL— T HyT&RBI-2U-11-U-12 8AHIHvH—BREKXS

#F FTOQTVVYFHMEBRISI-U-11-U-12 BAFITYvH—IIXBIRAS HASER
2010.10.3
(B BHNEHvH—IHE
| e #2851 4iB@ZEER
#58: 2010810838 (8) 1) 6EE
= & BALLUR— VR AlL_AJ DY) BJ 0v7
<BIREESIHBPAE> El® g=3g OEES
T7:45 B8 -JZMXN EZVIBES Y@ ERE ® Z2oE
8:00~ I—)LBREBLVIED TlomeEr ©®x:=37
9:15 ER-BURZEKEAEL> 2)BE4A
9:30 ﬁ;ﬁg_t gl CJ 0vJ DJ 0yY
16:15~ BIRI-H DT E@ @=3g W5 2
Y® BEHE DE=EES
0 BH¥EOBHE-EEBRT—LENEA4BE) |T|omRE ®5=7
FBEAE R:IREREEM) \DBiFI D.
. sS85 <19’7‘3\—1'f3\—1o’;‘3\—4’ﬁ—107‘3\> ]
° R —R =y T H—R Mgy
F:#8 10:00|0 AB=0 vs @ REFR XN 2 3E[D @_J vs ® DOE N 3 FEE
255 10:45|@ K 2 vs ® BEE B=0 BRE 5 2 vs ) RER #H=T AARE
%3:5 11:30|() AA=0 vs ® AREE XN 3 F=T|@® FB=10 vs @® FAREER N 2 =T
2455 12:15|@ K 2B vs ® HR=;0 FBEE REE W 2 vs ® F=)0 BRE SR
g5is 13:00(® PBER vs @ REFR FR=T BGE|© FOER vs Z2EE F=19 2%
g6 13:45|6) =50 vs 6 BLHE =07 FRE[|® FT=350 vs ) FTEE B=T 5=
V. 28
<BHEE> <BEE>
SR N H B B B
=30 301 1@2|4|1]2|E&E=0T 0@ 1 1@2|0|-23
FERK|(1 @ 3 2 A 212|213 BEE|1 O 0 2 @ 3[4|0]|2
BER|2O1 2 A2 5| 1[1]|BREE|2 01302 8|21
BI 0| H 3 2B =02z R[orm R 3 FRE =92 Z[F
N 2 0@ 1 0@4|0|-53]% = 2@ 4 0@ 2|0|-4]3
BaE[1 00 4 O 0f8|5|1|ERBEK|4 O 2 30 1]8[4]|1
=400 0@ 4 Al0|2|E=T (200 1@ 3 4(0f2
V.REXEE (FBRERKRELTRBREALR)
<BFELEDE > <BEFEEDEE >
AT OwIM cOvwoMI
O BLE 0 FEER
B OwIMI »] E2EK DOV 5 2K
BLE J FORESR RER J FORESR



